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Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) Bv inserting small sheets or strips of paper over passages that had to be re-written.
he utterly changed the outcome of the stories. bringing them unfailingly to a happy
ending.

(B) For this man. every story. novel or epic poem had to end happily.

(C) So. over the yvears, he devoted himself to re-writing the endings of some hundred or so

books 1n every concelvable language.

(D) He obviously couldnt bear tragic endings. nor for a storv to end on a sad or

melancholic note.

Choose the correct answer from the options given below :

(1) (B). (D). (C). (A)
(2) (A). (D). (C). (B)
(3) (B). (A). (C). (D)
(4) (A). (B). (C). (D)

(1) 1
(2) 2
(3) 3
4) 4




T=-Og ¥ Feleta =1 o=y e 27

(&) 3 =
B) = EE
(C) T HE
(D) =1 H=ig
()  Tamt =@fg

Hi= fou v faeal H § HeE 39FT ST R =4 i
(1) #Fad (A). (C). (D)
2) Fad (A). (O). (B)
(3) ¥4 (A). (B). (D)
4  Fa= (B). (C). D)
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=17901]
2[Option ID=17902]
3[Option ID=17903]
4[Option ID=17904]

Sl. No.2
QBID:1007302

Choose the correctly spelt word.

(1) Efarvescent (27 Efervescent

(3 Effervesent (4) Effervescent

(1) 1
(2) 2
(3) 3
4) 4

FTER AR FHAES & IERY F a1 F A1 75 Hal 2 7
(1)  H&Fd WGl § 3T TR F S=W0 § % THF 26l 2
@ == 3 sies F oo wRun SgER fomn s 2

(3) @ = W W A ATER FFAES & g9H Sl S 8

(4)  I59 3UEl F= F [GRR % B A ST SR AR Fil s A e E




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17905]
2[Option ID=17906]

3[Option ID=17907]
4[Option ID=17908]

Sl. No.3
QBID:1007303

Choose the correct sentence.

(1) He was entitled to a full refund
(3 He was entitled on a full refund
1) 1
(2) 2
(3) 3
(4) 4
= 5w fog e E
EXE N

EE

(2
(4)

T % 3 B A aEq G B A" B A

He was entitled for a full refund

He was entitled with a full refund

‘O3 % o9 =9 ° 9@ #0919 BT & 39 99 #ad &

IUUE FYA F AT °, A fou 0 fTwedt § 1 gen IugE S H 99 S

(1) = [ &R I gF g &

2 = I 3R I 5A o 2

(3)  ®uA L4l 7, o %o I 7o 2
(4)  wyF [ 7Ted 2, A e [ Ee 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17909]
2[Option ID=17910]

3[Option ID=17911]
4[Option ID=17912]

Sl. No.4




QBID:1007304

Match List T with List IT :

ListI Last II
(A) Apggressor (. One who doesnt believe 1n the
existence of God
(B) Anarchist (II) One who does something for pleasure
(C) Amateur (III) One who wishes to destroy all
governments
(D)  Atheist (IV) One who attacks first

Choose the correct answer from the options given below :

(1) (A)-(D). (By~(IT). (C)-(ILI). (D)-(IV)
(2) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(3) (A)-(II). (B)-(I). (C)-(III). (D)-(IV)
(4) (A)-(IV). (B)-(I). (C)-(I1II). (D)-(IT)

(1) 1

(2) 2

(3) 3

(4) 4

fatia w19 % "oy # A @ F wE R Y

(&) faeim wez sH % fow g et @ wEe fE S 2
B) Ta=im g sAE * fow T swet = w2
(C) ‘g Sudt =R faeim g = W 2

(D) ‘=Y e S e weg s S A

(E) ‘Ofd’ 3uet & = o fasm e a9 o 2

e fou v famret A O ged 39gT I w0 WA i

() & (A). (B) ¥ (O)
(2)  FE (A). (B) 31 (E)
(3) A (B). (C) 3 (D)
@)  Faa (B). (C) 3 (E)
(1) 1
(2) 2

3) 3
(4) 4




1[Option ID=17913]
2[Option ID=17914]
3[Option ID=17915]
4[Option ID=17916]

Sl. No.5
QBID:1007305

Identify the correct passive voice of the following sentence.

The waiter filled the glasses with water.
(1) The glasses filled with water by the waiter

(2) The waiter was filled the glasses with water
3 The glasses were filled with water by the waiter
(4) The waiter were filled in the glasses by water
(1) 1
2) 2
(3) 3
(4) 4
Tf1-1 % A1 1 gei-11 faes it
- LI
(A) T O sg
(B) =hHel (ID dwr
(C) =ig (IIT) =3
(D) g (IV) i

= feu U fawedi 5 O OE 39 F 999 i

(1) (A)-(IV). (B)-(ID). (C)-(I1D). (D)-(I)
(2) (A)-(D). (B)-(D). (O)-(I1D). (D)-(IV)
(3) (A)-(IID), (B)-IV). (C)-(D). (D)-(II)
(4) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1I)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17917]
2[Option ID=17918]

3[Option ID=17919]
4[Option ID=17920]

Sl. No.6
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From among the four options given. choose the pair of words that are antonyms of each other

(1)
(3)
(1) 1
(2) 2
(3) 3
(4) 4

foresight: blindness (2) wiable: feasible

judicious: silly (4) welfare: comfort

TefeafEa 7 TG Jd-1 9T e & -

(1)
(3)

(1) 1
(2) 2
(3) 3
4) 4

EEECrot (2) FsEd

Faodd (4) a9

1[Option ID=17921]
2[Option ID=17922]
3[Option ID=17923]
4[Option ID=17924]

Sl. No.7

QBID:1007307

Identify the correct indirect narration for the following sentences

He said to her. “What a cold day!”

(1)
(2)
(3)
(4)

1) 1
(2) 2
3) 3
(4) 4

He told her that it was a cold day
He exclaimed that 1t was a very cold day

He exclaimed sorrowfully that 1s was a cold day

He exclaimed that 1t was a cold day




Frefefian & g T 2 -

(&) v T SEE WA o e
(B)  T=W e 93 UEE T8 A

(C)  F9 W W A fil FH |

(D) A ® T gH EREATYS il 2l
(E) i = g3 HieH 78 2

= fou T ot § O = I o = Fit
(1)  Fad (A). (C) 317 (B)
(2)  Fad (A), (B) R (D)
(3)  Fad (B), (C) =R (D)
(4)  =ae (C). (D) 311 (E)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=17925]
2[Option ID=17926]
3[Option ID=17927]
4[Option ID=17928]

Sl. No.8
QBID:1007308

Which of the following 1s a one-word substitute for ‘one who cuts precious stones™?
(1) Lapidist {2y Milliner
(3) Glazier (4) Farrier
(1)
(2)

(3)
(4)

A W N =




-1 % =1y =1 geAi-11 e it

il | il
(A) =9 @H T (I) et
(B) A @ F dre (I1) wus
(C) w5 & |HM SAT@l aredl (IIT) fre=afi
(D) Hoel = GEE AT are (IV) Toam=rd

= fou U feeal 0 O wE 39 1 =99 i

(1) (A)-(IV). (B)-(IID), (C)-(II). (D)-(I)
(2) (A)-(I1I). (B)-(IV). (C)-(I). (D)-(IT)
(3) (A)-(IT). (B)-(III). (C)-(IV). (D)-(I)
@  (A)-D. (B)-ID, (C)-). (D)-IV)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=17929]
2[Option ID=17930]
3[Option ID=17931]
4[Option ID=17932]

Sl. No.9
QBID:1007309

Choose a word which means "essential’.

(1) dispensable (2) crucial

(3) 1nitiative (4) umimportant

(1)
(2)
(3)
(4)

A W N =




-1 =1 =1 gAi-11 o it

-1 -1
(&) 3 F T = (D) e
(B) T T g¥HA (I) Tl = 390 W =e
(C) =g T (ITT) SEg S &
(D) el T AT V) 7@ =afw
i Tou U faheat § 9 =99 3 1 =999 Fie

(1) (A)-IV), (B)-(IID), (O)-(ID), (D)-(D)
(2) (A)-(IID), (B)-(IV). (C)-(D. (D)-(II)
(3) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
@) (A)ID). (B)-(III). (C)-IV). (D)-(D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17933]
2[Option ID=17934]

3[Option ID=17935]
4[Option ID=17936]

Sl. No.10
QBID:1007310

Choose a word which means “to avoid confrontation and anger’.

(1) Arduous (2) Evolution
(3) Emollient (4) Swollen
1) 1

(2) 2

(3) 3

(4) 4




e} =1 HEETA -
(A) HIIde

(B) Gl

(€ 4

(D) wEEE

+i= Tou T fahedl § @ B9 S9ET ST 1 =4 I

(1) F=4 @A)
(2) Fa= (B)
(3) ¥ (B) 3R (C) i
4  Fad (D)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17937]
2[Option ID=17938]

3[Option ID=17939]
4[Option ID=17940]

Sl. No.11
QBID:1007311

Who has been re-elected for the 4% time as the Prime Minister of Hungary?
(1) Viktor Orban {2y  EKiril Petkov

(3) Olaf Scholz (4) Gabriel Boric
(1) 1
(2) 2

3) 3
(4) 4

I T T = aw T T g e

(1) ]%TE"T _jﬁiﬂ (2) i'.fFur.Il:Fl “]F‘_t_q?ﬂ? =
(3)  #EE wed A ao
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=17941]
2[Option ID=17942]
3[Option ID=17943]
4[Option ID=17944]

Sl. No.12
QBID:1007312

Indian team comprising Chirag Shetty, Satwiksaira] Rankireddy. Lakshva Sen and
K. Srikanth created history by winning the Thomas Cup title for the first time after defeating
14 times Thomas Cup champion ——— by 3 - 0.

(1) Malaysia (2) Chinese Taipel
(3) Thailand (4) Indonesia

1) 1
(2) 2
(3) 3
(4) 4

e 91, wnfeers s RS, S5 B9 ¥R 6. A ® T 9WAE 2 A 14— S 9imE e A —
, 79 1 3-0 ° T T TR AW U7 F9 Haw sioes =)

(1) oo (2) =T aEE
(3) MEeAUs (4) =SHEPEET
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17945]
2[Option ID=17946]
3[Option ID=17947]
4[Option ID=17948]

Sl. No.13
QBID:1007313

Who has become the first Indian welghthifter to have won a gold at IWF Junior
Championships that was organized in Heraklion?

(1) Achinta Sheuli (2) Harshada Sharad Garud
(3) WV Rithika (4) Gyvaneshwar1 Yadav

(1) 1

(2) 2

(3) 3

(4) 4




FfFaT § STANT 55 9 $eeg UF JHEE A0 | W 9gE A aen 999 9EdaE deierrel wiH

g_n‘;'
(1) =A== e (2) =YE T TES
(3) i fifge (4) FHTSH AR
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=17949]
2[Option ID=17950]
3[Option ID=17951]
4[Option ID=17952]

Sl. No.14
QBID:1007314

According to the World Bank. India has surpassed
recelving country in 2021?

(1) Mexico (2) China
(3) Brazil (4y Japan
(1) 1

(2) 2

(3) 3
(4) 4

Tava &% % AT9E 99 2021 H 9N 39 99-T90 WHHGT 5o 5 F

as the top remittance

ST B T 27

(1)  =fFa=s (2) =M
(3)  FEE (4) =
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17953]
2[Option ID=17954]
3[Option ID=17955]
4[Option ID=17956]

Sl. No.15
QBID:1007315




According to the Union Budget from which government sector has the maximum number of
recelpts?
(1) Income Tax (2) Non-Debt Capital Receipts
(3) Borrowing and other habilities (4) Customs
1) 1
(2) 2

3) 3
(4) 4

F51 2 H ATAR TR I G a0 W i w5 A ¢

(1)  =TFH (2)  TE-For I WA
(3) A Ud 3= oHam (4) 1 e

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17957]
2[Option ID=17958]
3[Option ID=17959]
4[Option ID=17960]

Sl. No.16
QBID:1007316

Match List I with Tast IT :

List I List IT
(A} Author )  Artist
(By Actor (ITy Performer
(C) Painter (IIT) Scholar
(D) Researcher (IV) Narrator

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(II). (C)-(I). (D)-(III)
(2) (A)(IIT). (B)-(II). (C)-(I). (D)-(IV)
(3) (A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)
(4) (A)-(IIT). (B)-(I). (C)(II). (D)-(IV)

(1)
(2)
(3)
(4)

P W N R




T=1-1 % =y g=t-10 1 faerm Fifsm

(A)
(B)
(C)
(D)

49 fou o faweni § 9 v 3w =9 Fife

Y
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

-1

(A)-(IV). (B)-(II). (C)-(I), (D)-(IIT)
(A)-(III). (B)-(II). (C)-(I). (D)-(IV)
(A)-(IV). (B)-(I). (C)-(IT), (D)-(IIT)
(A)-(III). (B)-(I). (C)-(IT). (D)-(IV)

1[Option ID=17961]
2[Option ID=17962]
3[Option ID=17963]
4[Option ID=17964]

TEl-11
() FeATHR
(II) wR=ATaT (qsTe )
(IIT) TagH
(IV) =il

Sl. No.17

QBID:1007317




Six statements are given below. put all in a specific order. Choose the rght argument
containing logically related statements that i1s. where the third statement is a conclusion
drawn from the preceeding two statements :

(A) All dolls are tovs.

(B) Some tovs are pencils

(C) Some pencils are dolls

(D) Some toyvs are not dolls

(E) All tovs are pencils

(F) No tovs are pencils

Choose the correct answer from the options given below :

(1) (B). (C). (D)
(2) (E). (A). (O)
(3) (A). (B). (C)
(4) (E). (D). (C)
(1) 1
(2) 2

3) 3
(4) 4




= B wua for o B 3% v fAfvea #9 9 omsv) 9E o w6 9Ee Fitae g adel e 9 ety
(A) = ST e #

(B) F9 e = 2

(C) o ufEe TEAm 7

(E) =R Tt dfae 3

(F) =iz it figeimn dee T4 21

4= TGu v [mEea 5§ HEl I #1999 S
(1)  (B). (). (D)
(2) (E). (A). (C)
(3) {A). (B). (C)
(4) (E). (D). (C)

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17965]
2[Option ID=17966]
3[Option ID=17967]
4[Option ID=17968]

Sl. No.18
QBID:1007318

If FACULTY 12 YTLUCAF and PAPERS are SREPAP: then STATEMENTS are

(1) STMETANETS (2y SNTEMETATS
(3) STNEMETATS (4y SMETANETST
(1) 1
(2) 2
3) 3

(4) 4




gfe FACULTY # YTLUCAF fomar =1 2 3n PAPERS # SREPAP o1 =1 & @i
STATEMENTS =1 947 fomar =mom 7

(1) STMETANETS (2) SNTEMETATS
(3) STNEMETATS (4) SMETANETST

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17969]
2[Option ID=17970]

3[Option ID=17971]
4[Option ID=17972]

Sl. No.19
QBID:1007319

Six statements are given below: put all in a specific order. Choose the right argument
containing logically related statements that 1s. where the third statement 1s conclusion drawn

from the preceding two statements.

(A) Frogs are mammals.

(B) Some mammals are butterflies
(C) Frogs are butterflies

(D) Some frogs are butterflies

(E) Some frogs are not butterflies

(F) No frog 1s butterfly

Choose the correct answer from the options given below :

(1) (B). (F). (D)
(2) (A). (C). (E)
(3) (A). (D). (B)
(4) (B). (4). (C)
(1) 1
(2) 2

3) 3
(4) 4




A2 3 Fo e e B A R o Giffea w4 ) bl on 8 seiun we O wh o B o
Fifaw, w320 = dE0 FY Hq9H ghadi 51 YA F FeRd ° e w2

(A)  Te® =AaE EE 7

(B)  F9 wH9El faateEl 2

(C)  We faafa 7

(D) T3 Uk foafeEl 7 2

(F) == i g faqa=i 74 2|

4 feu v faFeat § ° 9F1 3 #1999 Fie
(1) (B). (F). (D)
(2) (A). (C). (E)
(3) (A). (D). (B)
(4) (B). (A). (C)

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=17973]
2[Option ID=17974]

3[Option ID=17975]
4[Option ID=17976]

Sl. No.20
QBID:1007320




Given below are two statements :

Statement I :  Honesty 1s the best way to healthy life: exercise 1s secondary means.

Statement II :  Exercise 1s the best way to healthy life; Honesty 1n exercise 1s must.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II 1s true

(1) 1
(2) 2
3) 3
(4) 4

= 71 e foo o E

FoA 1 =Y e # 0 SaE T SHEER 2| SEEE T 3 2

T I1: =5 A 1 " T m‘j‘q%;—w ¥ THFEH SEvEE B
IHIF FYA 5 AEE 5, A= 58 T el § W 5 I I % =5 I

(1) w3 Il o9 2
(2) woa 3R IS #1594 &
(3) wua 190 2, @ %94 I 790 7

(4) =99 ] 575 &, wifed $o9 [ o039 7

(1) 1
2) 2
3) 3




(4) 4

1[Option ID=17977]
2[Option ID=17978]
3[Option ID=17979]
4[Option ID=17980]

Sl. No.21
QBID:1007321

Consider the system of linear equation x + 2y =10 ; 3x + ky = 15 then which of the following
1s/are correct
(A) For k = 6 the system will have unique solution.

(B) For k = 6 the system will have infinitely many solutions.

(C) There 1s no value of k so that the system has no solution.
(D) The system 1s not consistent at all.
(E) The svstem 1s always consistent.

Choose the correct answer from the options given below :

(1) (A). (O). (E) only
(2) (A). (B). (E) only
(3) (B). (C). (D) only
(4) (C). (D). (E) only

(1) 1
(2) 2
(3) 3
4) 4




OH S x4+ 2y =10, 3x + ky =15 UF Thg® GHE F o9 7| A9 G ™ IOH ° ®H F 95
(A) k=6 % [oU 99 F TH Fa4 UF 74 7

(B) k=67F a0 F TH I = 2

(C) ki =i i a9 van 981 2 5 79 % 9\ #5999 2

(D) 7= F o gE T 2

(E) o= =90 a7 7|

ﬁ?hﬂwmﬂﬂﬂﬁWﬁWﬁﬁW
(1)  Fa= (A). (0). (E)
(2)  ad (A). (B). (B)
(3)  FA=(B). (C). (D)
4y  FaA(C). (D). (E)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17981]
2[Option ID=17982]

3[Option ID=17983]
4[Option ID=17984]

Sl. No.22
QBID:1007322
3 "Ee 3
The value of [ ﬁmfli_?g} [ 3 39} 1s
(1) 21 (2y 243
(3) L 4y 729
1) 1
2) 2
(3) 3

(4) 4




&

{5 | [R5 |
][]

(1) 81 (2) 243
(3) 27 (4) 729

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17985]
2[Option ID=17986]

3[Option ID=17987]
4[Option ID=17988]

Sl. No.23
QBID:1007323

A number x 1s chosen at random from the numbers —3. —-2. -1, 0. 1. 2. What 1s the probability
that x* < 47

(1) ¥ £2) ¢
(3) % 4 1
(1) 1
(2) 2
3) 3
(4) 4

TEmE -3, 2. -1, 0. 1. 29 ¥ uF W x ARIw IH Il B2l a7 < 4 T arEfwa w0 2 e

(1) ¥ (2) 3
(3) % 4 1
1) 1
(2) 2
3) 3
4) 4

1[Option ID=17989]
2[Option ID=17990]
3[Option ID=17991]
4[Option ID=17992]

Sl. No.24
QBID:1007324




For which value of b the quadratic equation x> + bx + 4 = 0 has real =olution

(1) b=4b=-4
(2) b4 b=-4
(3) b>4b<-4

(4) there 1s no values of b so that it has real solution

1) 1
(2) 2
(3) 3
(4) 4

b = T4 O =+ Tou fgaria adir x° + bx + 4 = 0 F1 T arai=® 7 2|

(1 b=4b=-4 (2) bz4.b=-4

(3) bzd4b<-4 (4) b T EE AE A A

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17993]
2[Option ID=17994]

3[Option ID=17995]
4[Option ID=17996]

Sl. No.25
QBID:1007325

If « and F are the zeors of the quadratic polynomial f(x}=,!ax2 +4x + 8 such that

a® + B =16 then the values of k are

(1 Y D ()
} 72 % 2 2
, 1-45 1++5 I T O
(3) , (4) _ .
2 2 2 2
(1) 1
(2) 2
(3) 3

(4) 4




G o AR B g 79 flo) =kx” +4x +8 F A2 AF o° + 7 =16 79 k T H &1 :

B priith [ O

(1) 3.7, (2)
% 2 2
: 145 1445 B | I, B
(3) : (4) _ :
2 2 2 2
1) 1
2) 2
3) 3
4) 4

1[Option ID=17997]
2[Option ID=17998]
3[Option ID=17999]
4[Option ID=18000]

Sl. No.26
QBID:1064001

When the Disaster Management Act of India was enacted?

(1) 2004 (2) 2005
(3) 2006 (4) 2007

(1) 1
(2) 2
(3) 3
(4) 4

HRAT A1 vayA Afafam e sfufag gan e

(1) 2004 (2) 2005
(3) 2006 (4) 2007

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18601]
2[Option ID=18602]

3[Option ID=18603]
4[Option ID=18604]

Sl. No.27
QBID:1064002

Which ministry i1s responsible for the Disaster Management in India?

(1) Home Ministry (2) Finance Mimistry

(3) Defense Ministry (4)  Agmculture Ministry

(1) 1




(2) 2
3) 3
4) 4

HAd | 39E] Yo g i A1 FHed STeEt 27
(1) 78 5 (2) T weE

(3) &N HATeHA (4) FN w=eE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18605]
2[Option ID=18606]

3[Option ID=18607]
4[Option ID=18608]

Sl. No.28
QBID:1064003

Which is the Apex Institutional body of Disaster Management in India?

(1) NIDM (2) NDMA
(3) NCMC (4) NDRF

(1) 1
(2) 2
(3) 3
(4) 4

UAA H Mg T999 1 I9 G- FEE :H m e

(1) TS (2) WIE WY
(3) wHwH (1) WS ANTH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18609]
2[Option ID=18610]

3[Option ID=18611]
4[Option ID=18612]

Sl. No.29
QBID:1064004

Which disaster prompted to enact Dizaster Management Act in India?

(1) Cyclone (2) Landslide
(3) Tsunami (4) Flood




(1) 1
(2) 2
(3) 3
(4) 4

fr=ferfaa 4 @ fofa ster 7 widE st weras sifufem Frm s9W &g o fean?
(1)  =sham (2) Yq-Tged

(3) g (4) =g

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18613]
2[Option ID=18614]

3[Option ID=18615]
4[Option ID=18616]

Sl. No.30
QBID:1064005

Where is the Tsunami warning Centre of India located?

(1) Mumbai (2) New Della
(3) Hyderabad (4) Chennai

(1) 1
(2) 2
(3) 3
(4) 4

qHd | GATH Sara-l g Fal daredd 27
(1) =% (2) % faeet
(3) EoEg (4) ==

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18617]
2[Option ID=18618]

3[Option ID=18619]
4[Option ID=18620]

Sl. No.31
QBID:1064006




Which of the seismic waves do not cause damage to buildings?

(1) Love (2) Rayleigh
(3) S wave (4) P wave

(1) 1
(2) 2
3) 3
(4) 4

frefafas § & F7 o sEdt 701 v | afd 7@ wed 37
(1) @& (2) =
(3) wE (4) ot @
1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=18621]
2[Option ID=18622]
3[Option ID=18623]
4[Option ID=18624]

Sl. No.32
QBID:1064007

Which of the following is responsible for Zika virus?

(1) Monkey (2) Bat
(3) Mosquito (4) Bird

(1) 1
(2) 2
(3) 3
(4) 4

shern farmo 3 fore Freerfa 3 @ 9w 37

(1) =& (2) =wEE
(3) W=t (4) Tafem

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18625]
2[Option ID=18626]

3[Option ID=18627]
4[Option ID=18628]

Sl. No.33




QBID:1064008

Which of the following is given to protect CBRN hazards?

(1) VPE
(3) XPE

(1)
(2)
(3)
(4)

A W N =

2) IPE
(4) APE

i ot IR 7 @t § s9e & fou fefafad § <9 @1 gem e s 27

(1 g
(3) w3

(1)
(2)
(3)
(4)

A W N =

1[Option ID=18629]
2[Option ID=18630]
3[Option ID=18631]
4[Option ID=18632]

(2) i3
(4) wdig

Sl. No.34
QBID:1064009

Which 1s not a GREENHOUSE gas?

(1) COs=
(3) Ozone

(1) 1
(2) 2
(3) 3
4) 4

fr=fafas & & 29 & feeea’ 78 76 27
(1) FEF=EeEEEs (C02)

(3) N

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=18633]
2[Option ID=18634]

(2) Water vapour

(4) Hydrogen

(2) &« 919

(4) ETISIeA




3[Option ID=18635]
4[Option ID=18636]

Sl. No.35
QBID:1064010

The interval between exposure to an CBRN agent and the first signs and Symptoms of illness
or disease is

(1) Transmissibility (2) Latency
(3) Toxicity (4) Persistency
1) 1

(2) 2

(3) 3

4) 4

ot =t 5ff R U7 e F 3 3R WU A1 SEE F 999 Hehd Ud O&v & 95 a0

r

(1)  #=war (2) Tl
(3)  fomrEaan (4) HEcEal

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18637]
2[Option ID=18638]

3[Option ID=18639]
4[Option ID=18640]

Sl. No.36
QBID:1064011

Tsunamis are

(1) Gravity wave (2) Acoustic waves

(3) Capillary wave (4) Internal waves

(1) 1
(2) 2
(3) 3
(4) 4

gt fFrfafas 5 9 0 %
(1) o @ (2) = T
(3)  hiuwE G (1) TR

(1)
(2)
(3)
(4)

A W N =




1[Option ID=18641]
2[Option ID=18642]
3[Option ID=18643]
4[Option ID=18644]

Sl. No.37
QBID:1064012

Build Back Better (BBB) is used in Disaster Management in the process of

(1) Mitigation (2) Prevention

(3) Reconstruction (4) Response

(1) 1
(2) 2
(3) 3
4) 4

fies & wex (3t off 1) 3TvE e i R wiE § wEa B 27

(1) = (2) TrEm (Tam)
(3)  TARHm (4) s

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18645]
2[Option ID=18646]

3[Option ID=18647]
4[Option ID=18648]

Sl. No.38
QBID:1064013

Which section of Disaster Management Act of India prohibits all forms of discrimination
based on sex, caste, community or religion

(1) Section 13 (2) Section 18
(3) Section 61 (4) Section 15

(1) 1
(2) 2
(3) 3
4) 4

WA AT TaeH Ata=EE 1 FE HOAE o, S0, TEEE A9ET 96 W OSEE 9 TET F qRgmE 5
(1) g1 13 (2) Hmr 18
(3) =W 6l (4) w15

1) 1




(2) 2
3) 3
(4) 4
1[Option ID=18649]
2[Option ID=18650]

3[Option ID=18651]
4[Option ID=18652]

Sl. No.39
QBID:1064014

~

Which section of Disaster Management Act of India guarantees Right to Life?

(1) Section 18 (2) Section 21
(3) Section 14 (4) Section 19

1) 1
(2) 2
(3) 3
(4) 4

WA 3m9eT weud fuafm £+ = g Sfieq + 3fawn $ T em w1 8 v

(1) W18 (2) w21
(3) uW 14 (4) =mr 19

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18653]
2[Option ID=18654]

3[Option ID=18655]
4[Option ID=18656]

Sl. No.40
QBID:1064015

In GIS digitization, which of the following is not considered as an attribute?

(1) Polygon (2) Point
(3) Line (4) Table

(1) 1
(2) 2
(3) 3
4) 4

Aiiferss ga o (S o8 w) sThe 8, Fefafaa @ @ 5 @ (fewan) 78 a5 2

(1)  =g4qs (2) fag
(3 @ (4) T

1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=18657]
2[Option ID=18658]

3[Option ID=18659]
4[Option ID=18660]

Sl. No.41
QBID:1064016

In GIS, creation of zone of specified distance around features of interest is called as

(1) Tracking (2) Buffering
(3) Zoning (4) Labelling

(1) 1
(2) 2
(3) 3
4) 4

Aot g a3 (S s w|) o wfista F fqumarst F smw-uw fafafds 2 % am = i etatea
4 T e 2

(1) 2fm (2) =HAT
(3) S (4) <rEfe

(1)
(2)
(3)
(4)

P W N R

1[Option ID=18661]
2[Option ID=18662]
3[Option ID=18663]
4[Option ID=18664]

Sl. No.42
QBID:1064017

Which is not the advantage of Database Management System (DBMS)

(1) Data transfer (2) Data security
(3) Data integration (4) Data complexity
1) 1
(2) 2
3) 3

(4) 4




frferfiad i & =9 @1 22em ey yonel (S s v 1) % e T8 R

(1) ST 3 (2) =TT gEEm
(3) =T TETEEH (4) =TeT Afdean

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18665]
2[Option ID=18666]

3[Option ID=18667]
4[Option ID=18668]

Sl. No.43
QBID:1064018

How many goals are envisaged by UN to achieve Sustainable Development Goals (SDG) by
20307

(1) 10 2 9
3 17 (4) 21

(1) 1
(2) 2
(3) 3
) 4

a9 2030 7% Huwviy o we (vE €S T e A aged g i A S5 o e 2 e

(1) 10 @ 9
(3) 17 4 21
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18669]

2[Option ID=18670]

3[Option ID=18671]
4[Option ID=18672]

Sl. No.44
QBID:1064019

Coral bleaching is an indicator of

(1) Flood (2) Cyclone

(3) Tsunami (4) Global warming
1) 1

(2) 2

3) 3




(4) 4

vard ferae f=ferfiaga =1 999 2 :

(1) =g (2) =sFard

(3) g (4) dfvas ao (eEe i)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18673]
2[Option ID=18674]

3[Option ID=18675]
4[Option ID=18676]

Sl. No.45
QBID:1064020

Which of the following is highly endangered species in the world?

(1) Camel (2) Crocodile
(3) Great Indian Bustard (4) Whale

(1) 1
(2) 2
(3) 3
4) 4

fFatafga & °§ 99 o fva 8 30a 999 T § o 2 7
1 = (2) =S
@) @ fafem (32 sfem wmed) 4) ===
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=18677]
2[Option ID=18678]
3[Option ID=18679]
4[Option ID=18680]

Sl. No.46
QBID:1064021

The devastating 2004 Great Sumatra-Andaman earthquake was due to

(1) Normal fault (2) Thrust fault
(3) Strikeslip fault (4) Peripheral fault

1) 1




(2) 2
3) 3
4) 4

a9 2004 F1 Uz GAET-TSHH F FETFR FT F FEO FEAGET T T HE o127

(1) e 9= (2)  #HU-go
(3)  Alaers q90 q (4) ufefm g
1)1

(2) 2

(3) 3

(4) 4

1[Option ID=18681]
2[Option ID=18682]
3[Option ID=18683]
4[Option ID=18684]

Sl. No.47
QBID:1064022

Andaman & Nicobar islands fall under seismically vulnerable zone

(1) I 2 IV
(3) \Y (4) 1

(1) 1
(2) 2
(3) 3
4) 4

A R FHeEn guegg F=fafaa 4 @ e gade gue &9 & Jafq o 27
(1) I (2 IV
B ¥ (4) 1

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18685]
2[Option ID=18686]

3[Option ID=18687]
4[Option ID=18688]

Sl. No.48
QBID:1064023




International strategy for Disaster Risk Reduction of 2015-2030 framework for action is
envisaged in

(1) Hyvogo framework for action (2) Bendai framework for action

(3) Yokagama framework for action (4) Jamaican framework for action

(1) 1
(2) 2
(3) 3
(4) 4

ST9E] FIfEs =i & FRaE & a8 2015-2030 F T9@ # fou s wHifd W fefafas 5 9
e o= T T ?

(1)  *HaTs = oo g3 swan § (2) HaT F fog gme18 sw@r °
(3)  =iaEms % foru SrewmmEr =atEr |1 (4) =HaTs & fou e o |

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18689]
2[Option ID=18690]

3[Option ID=18691]
4[Option ID=18692]

Sl. No.49
QBID:1064024

Which disaster model is the best for effective disaster risk reduction?

(1) Traditional (2) Disaster crunch
(3) Disaster release (4) Expand-contract
1) 1
(2) 2
(3) 3
(4) 4

fr=forfiaa o & 9 91 A19g 9eY T AME FiiE A & Ty ghdss 27

(1)  9HafEF (2) el H BHaTet wH (TEee )
(3) gy wee (e fieti) (4) WlEIE-T8N (TEFE-8 Fdae)

1 1

(2) 2

(3) 3

(4) 4




1[Option ID=18693]
2[Option ID=18694]
3[Option ID=18695]
4[Option ID=18696]

Sl. No.50
QBID:1064025

Disaster is fundamentally a social construct with some physical event or a combination of
two. This was defined by

(1) Drabek (2) Blaikie
(3) Hoffman {(4) Quarantelli

(1) 1
(2) 2
(3) 3
(4) 4

AT e i TR W A uiEeE % wAeE A B Al 5 v 2
1) =% o

& (4) FERAEA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18697]
2[Option ID=18698]
3[Option ID=18699]
4[Option ID=18700]

Sl. No.51
QBID:1064026

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Risk = Hazard % Vulnerability / Capacity

Reason (R) : Capacity of community determines the risk and is inversely related.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

1) 1

(2) 2

(3) 3




(4) 4

Hi= 2t Fy Bu e E ;v sfises (Assertion (A) %Wﬁﬁf@ﬁ%ﬁ?@ﬂ?ﬂﬁﬁ FR (Reason (R))
gﬁ?ﬁqﬁ:

AHFI (A) : SIEH = @a0 X GHAT/ &Ha
F1oT (R) : S 1 Al JHa &1 9 il @ 3 399 aaia: etad 2 2|

IUIE FYH F A °, {9 G e 8 9 e 39w 39w 95 Fifen

(1)  (A) 3 (R) 2Ht 5 8 3 (R), (A) 1wt =aren 2

(2)  (A) 3 (R) 3 T E, IR (R), (A) i FE =TS @ 2
(3) (AT 2, af (R) 98 71 2

(4) (A =& 78 B, of (R) =&t 2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18701]
2[Option ID=18702]
3[Option ID=18703]
4[Option ID=18704]

Sl. No.52
QBID:1064027

Which of the following is responsible for ocean acidification?

(1) N (2) COq
(3) H (4 K
1) 1

(2) 2

(3) 3

4) 4

TEMTR STeER & o frefafaa 5 9 #6791 a9 St 87

(1) N (2) CO:
(3) H (4) K

(1) 1
2) 2
3) 3
(4) 4

1[Option ID=18705]
2[Option ID=18706]




3[Option ID=18707]
4[Option ID=18708]

Sl. No.53
QBID:1064028

Who is heading the State Disaster Management Authority?

(1) Governor (2) Chief Minister
(3) Speaker (4) Home Minister

(1) 1
(2) 2
(3) 3
(4) 4

=9 HYST Ja4 U= i Shad] S Fd 27

(1) T (2) FE
(3)  wHuul (Ff) (4) Te-TH

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18709]
2[Option ID=18710]

3[Option ID=18711]
4[Option ID=18712]

Sl. No.54
QBID:1064029

Given below are two statements :

Statement [ ¢ All Hazards are Disasters

Statement 11 :  All Disasters are Hazards

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
1) 1
(2) 2
(3) 3

(4) 4




i 21 Ty fem o E

FE [: @t @at 9e 2 B
FeA [1: Tt s9e @at 2 8

I YA & ATerd H, e 5 T faeedl § 9 g9d 3UgT 39 1 99 i

(1)  =9A 139 I 5HT &1 8
(2)  @¥a 13 11 ST Terd 8
(3) w191 B, Tk 59 [ 7o 2
(4) w17 2, ©ite e 1198 @

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18713]
2[Option ID=18714]

3[Option ID=18715]
4[Option ID=18716]

Sl. No.55
QBID:1064030

The causative mechanism of the following hazards are:

List I List I1
(A) Earthquake (I) Unstable slope
(B) Landslide (I} Meteoric phenomenon
(C) Storm surge (III) Fault
(D) Flooding (IV) Improper drainage

Choose the correct answer from the options given below :

(1) (A)-(I1I), (B)-(D). (C)-(I), (D)-(IV)
(2) (A)-(D), (B)-(I), (C)-(I1T), (D)-(IV)
(3) (A)-(IV), (B)-(1I), (C)-(11L), (D)-(I)
(4) (A)-(I), (B)-(I1D), (C)-(IV), (D)-(II)
(1) 1
(2) 2
(3) 3
(4) 4




-1 % | g=Ai-11 %1 e il

-1
(@a)
(A) A
(B) ¥Y-¥EeH
(C) TFH weIH
(D) e (FeArs)

- 11
(FETcITEF 9)
() =afesm =ra
(I) 3o TiEeT
(IIT) 9o
(IV) g HA94amE

Hi fou 7o faweat 4 € 98 3 %=1 599 Fifaw

(1)  (A)-(ID), (B)-(D), (C)-(1D), (D)-AV)
(2)  (A)-D, (B)-(ID), (C)-(IID), (D)-(IV)
(3  (A)-OV), (B)-(I), (C)-a1D), (D)-(D
(4)  (A)-(D), (B)-aII), (C)-1V), (D)-(IL)

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=18717]
2[Option ID=18718]

3[Option ID=18719]
4[Option ID=18720]

Sl. No.56
QBID:1064031

Which hazard is forecasted by Ocean Bottom Seismograph (OBS)?

(1) Tsunami

(3) Volcanic eruption

1) 1
(2) 2
3) 3
(4) 4

HEEPR it ehucrdt (S st TE) grT gt @an fefafad § & < @ e?
(2) 9

(1) g

(3) ATl 3T
(1) 1
(2) 2
(3) 3

(4) 4

(2)
(4)

(4)

Earthquake

Black smoker




1[Option ID=18721]
2[Option ID=18722]
3[Option ID=18723]
4[Option ID=18724]

Sl. No.57
QBID:1064032

In which of the following hazards, the warning system “Buoys” are used?

(1) Coastal erosion (2) Tsunami
(3) Cyelone (4) Landslides

(1) 1
(2) 2
(3) 3
(4) 4

fr=fafias @ 4 & o S’ (seea) Sars- soe 1 w=e gar 27
(1) 39 (2) A

(3) =%am (4) Y-=geH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18725]
2[Option ID=18726]

3[Option ID=18727]
4[Option ID=18728]

Sl. No.58
QBID:1064033

The Ebola disease originated from which of the following country.

(1) Nigeria (2) Kenya

(3) Congo (4) South Africa
(1) 1
(2) 2
(3) 3
4) 4

aien 1 & 3eafd Fefafaa o | e 4o 9 g8 7

(1) i (2) F=

(3) @ (4) afaor sufE
(1) 1

(2) 2




3) 3
(4) 4

1[Option ID=18729]
2[Option ID=18730]
3[Option ID=18731]
4[Option ID=18732]

Sl. No.59
QBID:1064034

In pollution study, which of the following method is used?

(1) Seismic method (2)  Gravity method
(3) Resistivity method (4) Magnetic method

(1) 1
(2) 2
3) 3
(4) 4

wgwl SeEd H HefoiRad | 9 f6e vgfa @1 swam feeen s 27

(1) it ughd (2) THE U
(3)  wfqrassar v (4) d=E ugfd

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18733]
2[Option ID=18734]

3[Option ID=18735]
4[Option ID=18736]

Sl. No.60
QBID:1064035

Which of the following geophysical method, Dam leakage can be found out?

(1) Spontaneous Potential (2) Induced polarization
(3) GPR (4) VLF
(1) 1
(2) 2
(3) 3
(4) 4
fr=forfaa o & o y-ifas vgfa g @ty & T 1 9@ o -1 g 27
(1) TEa:TEd fama (2) IcufE g
(3) S AR (4) =t T T
(1) 1

(2) 2




3) 3
(4) 4

1[Option ID=18737]
2[Option ID=18738]
3[Option ID=18739]
4[Option ID=18740]

Sl. No.61
QBID:1064036

Which of the following statements 1s TRUE for the temperature variation with altitude in the
earth’s atmosphere?
(1) Temperature increases in both stratosphere and mesosphere
(2) Temperature decreases in stratosphere and increases in mesosphere
(3) Temperature increases in stratosphere and decreases in mesosphere
(4) Temperature decreases in both stratosphere and mesosphere
1) 1
(2) 2
(3) 3
(4) 4

gzl & GiHSd H G % A1 aHE | 9iade & Hed H HEfafad F9Ei 5 8 FF ' w58 8 7
(1)  EwamwEd 3 veaiEa % aEe § iy AR

(2)  EFAUESE % A99H § FEe U9 AeaEss & a9aH | 9ig gl @

(3)  THAMESH % 9UEE § Jhg UF T9HSE & aeH 4 fEe A 2

(1)  THAYNSH Ud HEAHSH ol o aMEH | TEe A 21

(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=18741]
2[Option ID=18742]
3[Option ID=18743]
4[Option ID=18744]

Sl. No.62
QBID:1064037

The only volcanic island of India is

(1) Minicoy (2) Kavaratti
(3) Barren (4) Androth
1) 1
(2) 2
(3) 3

(4) 4




A 1 THAE saamdl g Fefeiad § 3 &9 98 ¢

(1) Tat=e
(3) WA

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18745]
2[Option ID=18746]

3[Option ID=18747]
4[Option ID=18748]

(2)
(4)

FIETHL
SR

Sl. No.63
QBID:1064038

Ozone layer is located at a height of

(1)  20-50 km
(3)  200km

(1) 1
(2) 2
(3) 3
4) 4

M WA Tohat F=m W safem 8

(1)  20-50 fedt
(3) 200 FF

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18749]
2[Option ID=18750]

3[Option ID=18751]
4[Option ID=18752]

(2)
(4)

(2)
(4)

150 km
500 km

150 Terei
500 Tere

Sl. No.64
QBID:1064039

Faulting is a
(1) Brittle mechanism

(3) Rigid mechanism

(1) 1
(2) 2

(2)
(4)

Ductile mechanism

Convection mechanism




3) 3
(4) 4

%WFI%
(1) 9w (2) e T

(3) JE™ (4) Gdea

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18753]
2[Option ID=18754]

3[Option ID=18755]
4[Option ID=18756]

Sl. No.65
QBID:1064040

Acid rain occurs when

(1) Hydrogen combines with water (2) Nitrogen combines with moisture
(3) S0z combines with moisture vapour (4) Ammonia combines with water
1) 1
(2) 2
(3) 3
(4) 4

ST 991 9 Bl 8 o

(1)  EESieH e & H19 §90 Fidl 2 (2) AATESIAA IEAT & =Y WA HAT 8

(3) SO IEar-ard & =19 TF0 Fdl 2 (4) AT e o @19 A FAl 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18757]
2[Option ID=18758]

3[Option ID=18759]
4[Option ID=18760]

Sl. No.66
QBID:1064041

Rain bearing clouds are

(1) Stratus (2) Nimbus

(3) Cumulonimbus (4) Cirrus




(1)
(2)
(3)
(4)

FETET A9 B 2
(1) @i Hg (2) awHg
(3) w9 d "y (4) T&TH HY

A W N =

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18761]
2[Option ID=18762]

3[Option ID=18763]
4[Option ID=18764]

Sl. No.67
QBID:1064042

Given below are two statements:

Statement [ :  Mitigation and Preparedness are phases of Disaster cycle

Statement I1 :  Response and Recovery are phases of Disaster cycle

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
1) 1
(2) 2
(3) 3

(4) 4




= g1 FoA Bu o E

Fy 1 YIHA HT Aol SA9EI-<%h =hi eI 8l

FH 11 FGRN 3R TR AYGI-9% &l G840 8l
S FUH & AT H, e 5 T faweni § ¥ 999 30 3 61 99 it

(1) oA 13 11 3+ o9 8
(2) A 1 3R I M T 2
(3)  Fua 1921 2, ol &9 I 7eid 2
(4)  FUF 1 7o 2, ot ee 1198 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18765]
2[Option ID=18766]

3[Option ID=18767]
4[Option ID=18768]

Sl. No.68
QBID:1064043

According to the Constitution of India, how many Fundamental Rights can be exercised by a
citizen?

(1) Six (2) Eight

(3) Five {4) Four

1) 1
(2) 2
3) 3
(4) 4

WA HiG8™ % HFEN, Rl i or fhae difos SR 1 5 R 91 g 27

() o= (2) 33

(3) RIE] (4) =R

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18769]
2[Option ID=18770]

3[Option ID=18771]
4[Option ID=18772]




Sl. No.69
QBID:1064044

Which of the following i1s not an indirect health impact of flooding?

(1) Disruption of hivelihoods and income.
(2) Damage to crops. disruption of food supplies.
(3) Respiratory. skin and eve infections.
(4) Lozz of access to health care.
(1) 1
(2) 2
(3) 3
(4) 4

efeiEa 0 O = 1 SR T STeE T9E i A1 R 7
(1) AT = 379§ H=y

(2)  EEl A, WE-ATd 5 3y

(3)  waEmH, Tl ST 49 HEH

(4) TEEA TE-TE % 95T F A9

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18773]
2[Option ID=18774]
3[Option ID=18775]
4[Option ID=18776]

Sl. No.70
QBID:1064045

Father of Artificial intelligence (AI)

(1) Barbara Liskov (2) Marvin Minsky
(3 John McCarthy {4y Claude Shannon
(1) 1

(2) 2

3) 3
(4) 4

Fhm wig (U ) % S e 5 w2 2

(1) =W e (2) =IEA T
(3) = dgErd (4) =SS I

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=18777]
2[Option ID=18778]

3[Option ID=18779]
4[Option ID=18780]

Sl. No.71
QBID:1064046

As per IMD, a evelone is ealled Super Cyelone if wind speed exceeds

(1) Above 200 km/hour (2) Above 120 km/hour
(3) Above 220 km/hour (4) Above 60 km/hour

(1) 1
(2) 2
(3) 3
(4) 4

AE UH $ F AN, 9 F 9 HEAGREd B ¥ g A3faw 76 W 9wan #9900 g9wa (JW
ATgFeTH ) el A1 R 7

(1) 200 Tt /gz 7 i (2) 120 T /[ge1 @ #fa=s
(3) 220 i /aer ° Ao (4) 60 T1 /a2 O A
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=18781]
2[Option ID=18782]
3[Option ID=18783]
4[Option ID=18784]

Sl. No.72
QBID:1064047

Which language is commonly used in AI?

(1) Fortran (2) dJava
(3) Pvthon (4) Perl
1) 1
(2) 2
3) 3

(4) 4




Fhmaly (¢ om8) F amraa: 5w s F1 @ R e 3
(1) ®mgH (2) S

-

(3) sy (4) w9

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=18785]
2[Option ID=18786]

3[Option ID=18787]
4[Option ID=18788]

Sl. No.73
QBID:1064048

The advantage of Al is

(1) Provide security (2) Less time taken to solve a problem

(3) Work becomes easier (4) All of the above

(1) 1
(2) 2
3) 3
(4) 4

F4 gig (T AE) F1 W FEfefag A g FH @ 2

(1)  T& 9gH FA (2) HHE TG # FH HHT AT

(3) =+ WA A2 (4) I |

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18789]
2[Option ID=18790]

3[Option ID=18791]
4[Option ID=18792]

Sl. No.74
QBID:1064049

International Disaster Rick Reduction is celebrated on

(1) 13 November (2) 13 January
(3) 13 October (4) 13 December

(1) 1




(2) 2
3) 3
4) 4

FEE AT Figs A 58 o7 5= = 2 7

(1) 139a= (2) 13 ==
(3) 13 39 (4) 13 fEw
(1 1
(2) 2
(3) 3
(4) 4

1[Option ID=18793]
2[Option ID=18794]
3[Option ID=18795]
4[Option ID=18796]

Sl. No.75
QBID:1064050

Which gas leaked during 1984 Bhopal Gas Tragedy?

(1) Ethyl isocyanate {(2) Methy Isocyanate
(3) Potassium 1sothiocyanate (4) Sodium isocyanate
1) 1
(2) 2
(3) 3
(4) 4

T4 1984 F HTE 16 T9E F I Fefafaa 7 9 fee 79 w5 fea gen @t

(1)  vfas srEmEEE (2) wfue () seamEETe
(3)  uifirEm smEEitEEETe (4) wifETw smEEEEE

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18797]
2[Option ID=18798]
3[Option ID=18799]
4[Option ID=18800]

Sl. No.76
QBID:1064051




According to International guidelines, how many categories of rights are in disaster
rehabilitation?

(1) Three (2) Four

(3) Six (4) Eight

1) 1

(2) 2

3) 3

4) 4

= ___r :J IF;I.} _r-\:li*-;-.ﬁ_m.: - urr ﬁ'aq‘i‘-, «.q?[,r:h r\:EIr-J'_.q_lEﬁ_. ..r\ %?

[}

(1) GIES (2) =m
(3) @e (4) =13
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18801]
2[Option ID=18802]
3[Option ID=18803]
4[Option ID=18804]

Sl. No.77
QBID:1064052

Which impacts are assessed during EIA/SEA?

(1) Social (2) Environment

(3) Economic (4) All of the above

(1) 1
(2) 2
(3) 3
(4) 4

T 3% U/UH T U % SHH FAeieigg 8 O TR O9El i sehed e |E 2 e

i~ r r

(1) @ (2) TEEE
(3) = (4) 9T o
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=18805]
2[Option ID=18806]
3[Option ID=18807]
4[Option ID=18808]




Sl. No.78
QBID:1064053

Amount of data at risk during disaster recovery is called

(1)  RTO (2) RJO
(3) RPO (4) RVO

(1) 1
(2) 2
(3) 3
4) 4

SIS T & S10F AMEs = IRE - 31s] F1 Hal o 2

(1) #m# = (2) WS A
(3) e 1ol e (4) TR =i
(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=18809]
2[Option ID=18810]
3[Option ID=18811]
4[Option ID=18812]

Sl. No.79
QBID:1064054

The symptoms of stress are

(1) Emotional (2) Behavioural
(3) Physical (4)  All of the above

(1) 1
(2) 2
3) 3
(4) 4

fofaEe i a & F 0 T 27

(1)  HErEs (2) =R
(3) i (4) ITET A
(1) 1

) 2

(3) 3

(4) 4

1[Option ID=18813]
2[Option ID=18814]




3[Option ID=18815]
4[Option ID=18816]

Sl. No.80
QBID:1064055

By which of the following, a Stress can be managed?

(1) Avoiding pressure (2) Enhancing skills
(3) Avoiding thoughts (4) Avoiding financial problem

(1) 1
(2) 2
(3) 3
(4) 4

fraferfiaa # & foras g1 a9 = Fata e o 9 27

(1) 3@ 9fER (2) =ive 4 3fg
(3) o ofEn (4) Tavirm swen oiEn

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18817]
2[Option ID=18818]

3[Option ID=18819]
4[Option ID=18820]

Sl. No.81
QBID:1064056

Which part of the body 1s affected by Fluorosis impact?

(1) Head (2) Teeth
(3) Finger (4) Leg

(1) 1
(2) 2
(3) 3
(4) 4

T 1 A |1 37 FARTEE 99" | WHTEa B g7

(1 = (2) =4
(3) et (4) T
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18821]




2[Option ID=18822]
3[Option ID=18823]
4[Option ID=18824]

Sl. No.82
QBID:1064057

Which heavy metal pollution causes Minamata disease?

(1) Lead (2) Iron
(3) MMercury (4) Copper
(1) 1

(2) 2

3) 3

(4) 4

FefehEd 8 9 8 9 9 F Tge ® T 9 e 2 Y
1) = (EE) (2) =
(3)  TET (W) (4) A
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18825]
2[Option ID=18826]
3[Option ID=18827]
4[Option ID=18828]

Sl. No.83
QBID:1064058

By the end of this century, IPCC predicts that sea level may rise up to
(1) 3-35m (2) 05-0.75m
(3) 029-1.1m (4) less than 0.25 m
1) 1
(2) 2

(3) 3
(4) 4

3% i d = 1 A 2 T 33 vAeA ¥ 3 9% 99 a9 HAeienad S % S 33 T F

(1) 3-3.5H,. (2) 0.5-0.75T.
(3) 0.29-1.1+. (4) 0.257. ¥ FR
1)1
(2) 2
(3) 3

(4) 4




1[Option ID=18829]
2[Option ID=18830]
3[Option ID=18831]
4[Option ID=18832]

Sl. No.84
QBID:1064059

Which part of the geological epoch, Ice age is referred?

(1) Miocene (2) Pleistocene
(3) Pliocene (4) Eocene

(1) 1
(2) 2
(3) 3
4) 4

Y-SR 1 FA A AR g wwe g7

(1) HEA (2) =R
(3) e (4) AT

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18833]
2[Option ID=18834]

3[Option ID=18835]
4[Option ID=18836]

Sl. No.85
QBID:1064060

The advantage of satellite remote sensing is

(1) Temporal resolution (2) Spatial resolution
(3) Both (1) and (2) are correct (4) Both (1) and (2) are incorrect

(1) 1
(2) 2
(3) 3
4) 4

IR -G F Frefeiiaa o #

(1)  =ifes FEsE (2) wiiHe
(3) (1) 3R (2) TE R (4) FHT (1) 3 (2) T 7 21

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=18837]
2[Option ID=18838]

3[Option ID=18839]
4[Option ID=18840]

Sl. No.86
QBID:1064061

The hot topic of Carbon sequestration study helps in

(1) Cyclone studies (2) Earthquake studies
(3) Climate studies (4) Tsunam studies

(1) 1
(2) 2
3) 3
(4) 4

T JIFHEN HETH F e 99 e e § gEmEa w27

(1) EEEIGE 2R (2) FT A=

(3)  FoEg I (4) FAH A

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18841]
2[Option ID=18842]

3[Option ID=18843]
4[Option ID=18844]

Sl. No.87
QBID:1064062

NDRF, a specialized force for special response in a threatening situation comprise of
(1) Thirteen battalions (2) Seven battalions
(3) Nine battalions (4) Five battalions

(1) 1
(2) 2
(3) 3
4) 4

AT Tt % fou e s 2 ke ae w E am v § e seiters e 27

(1) o7 s (2)  d =2
(3) At 5 (4) 9= =2

1) 1




(2) 2
3) 3
(4) 4
1[Option ID=18845]
2[Option ID=18846]

3[Option ID=18847]
4[Option ID=18848]

Sl. No.88
QBID:1064063

In drought areas, which chemical is not used for facilitating artificial rain

(1) Silver iodide (2) Sodium chloride

(3) Potassium iodide (4) Ammonium chloride

(1) 1
(2) 2
(3) 3
(4) 4

TETE &, FOW @9 FEE % o g 9 5 5 meE w5 o = e = e

(1) Hea AMEEES (2) W99 FANES
(3)  UielerEn AEISES (4) =AFIHET FAAES
1) 1
(2) 2
3) 3
4) 4

1[Option ID=18849]
2[Option ID=18850]
3[Option ID=18851]
4[Option ID=18852]

Sl. No.89
QBID:1064064

In which of the following states. the Coastal erosion 1s more than any other state?
(1) Odisha (2) Tamil Nadu
(3) Andhra Pradesh {4y Kerala

1) 1
(2) 2
3) 3
(4) 4

fraferfaa § & g v=a d o= o=l 6 aren @9 swEA s g 2
(1) S (2) afbeTg

(3)  suEm (4) &




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18853]
2[Option ID=18854]

3[Option ID=18855]
4[Option ID=18856]

Sl. No.90
QBID:1064065

Which of the following is not a seismic wave?

(1) P wave (2) Bwell
(3) Love wave (4) S wave
1) 1

(2) 2

(3) 3

4) 4

Frferfon = & = = spdt w2 &7

(1) ot —a (2)  AREE
(3) el il (4) uy-aul

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18857]
2[Option ID=18858]

3[Option ID=18859]
4[Option ID=18860]

Sl. No.91
QBID:1064066

When a passenger ship is navigating in the middle of the sea and if a tsunami strikes, the
passenger will not feel that a tsunami has originated because of the following.

(1) Higher amplitude of the wave (2) Longer wavelength of the waves
(3) Smaller wavelength of the waves (4) Higher wave period

1) 1

(2) 2

(3) 3

(4) 4




T HE T TGS g F AT W OHEEE @ 8 S g e 9@, @ ant w5 gant sl
frefefiam 4 & froes =no = &t

(1) 0 % 3= 279 F S0 (2) = T A -2 %
(3)  Ton Ft g -3 & ww (4) =9 7T SEAHEA

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=18861]
2[Option ID=18862]
3[Option ID=18863]
4[Option ID=18864]

Sl. No.92
QBID:1064067

Which of the following do not favour the cyclone formation?

(1) Warm temperature above 27° (2) High relative humidity

(3) High wind shear (4) Atmospheric instability

(1) 1
(2) 2
(3) 3
(4) 4

f=fefias 4 @ =19 @1 =3am 9= 4 ggms 78 g 27

(1)  27° & ST IV G99 (2) == @me g
(3) I=4 9 whEa (4) FEseE sAfeErm

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18865]
2[Option ID=18866]

3[Option ID=18867]
4[Option ID=18868]

Sl. No.93
QBID:1064068

In which of the following terrain, a Dam can be constructed?

(1) Folded rocks (2) Faulted rocks
(3) Soft rocks (4) Hard rocks
(1) 1

(2) 2




3) 3
(4) 4

Frferfiga o & fopm s-wm o =ity s o we B 7

(1) afad= (2) wfm 9=
(3) wga (4) w2 =

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18869]
2[Option ID=18870]

3[Option ID=18871]
4[Option ID=18872]

Sl. No.94
QBID:1064069

Which of the following material is used in computer chips?

(1) Silicon (2) Carbon
(3) Iron (4) Uranium

(1) 1
(2) 2
(3) 3
4) 4

Fuet foui 4 frafafaa 3 @ - o= wam & s 27
(1) TafE=k (2) A
(3) @7 (smaw) (4) TfrEm

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18873]
2[Option ID=18874]

3[Option ID=18875]
4[Option ID=18876]

Sl. No.95
QBID:1064070




Which one of the following groups contains graphical file extensions?

(D TCP, JPG, BMP (2) JPG, GIF, BMP
(3) JPG, CPX, GCM (4) GIF, TCE, WMF

1) 1
2) 2
3) 3
(4) 4

fFrferfas wE 7 5 fFow ofim wee wdeE w8 7

(1) TCP, JPG, BMP (2) JPG, GIF, BMP
(3) JPG, CPX, GCM (4) GIF, TCE, WMF

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18877]
2[Option ID=18878]

3[Option ID=18879]
4[Option ID=18880]

Sl. No.96
QBID:1064071

Which of the following is responsible for Earthquake monitoring in India?

(1)  NRSC (2) GSI
(3 IMD (1) CWC

1) 1
(2) 2
3) 3
(4) 4

A | W % AgEn 7 efafaa § 3 9 |t gen sEEet 27
(1) U ¥ g i (2) <t uE e
(3) HETAE (4) i ssogq

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=18881]
2[Option ID=18882]




3[Option ID=18883]
4[Option ID=18884]

Sl. No.97
QBID:1064072

Which of the following is good to contain the quick spreading of oil pollution?

(1) Chemical dispersants (2) Burning

(3) Booms (4) Beach clean-up

(1) 1
(2) 2
(3) 3
4) 4

FeREd ® 3 i T1 9 95T o A" TEE W HF T F e 30 7 7

(1)  TEEES T (2) =

(3) T (m) (4) T 72 () F T
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18885]
2[Option ID=18886]
3[Option ID=18887]
4[Option ID=18888]

Sl. No.98
QBID:1064073

The temporary rise 1n sea level along the shore due to tsunanu 1s called
(1) Storm surge (2) Runup
(3) High tide (4) Marine transgression
(1) 1
(2) 2

3) 3
4) 4

A % O 92 % WY G5 a6 0 S gig o wa | A e

(1) = == (2) AT (F =m)
(3) AW (4) TEZE AfTEAT
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18889]




2[Option ID=18890]
3[Option ID=18891]
4[Option ID=18892]

Sl. No.99
QBID:1064074

Which tablet is safe to use immediately after a heart attack before consulting cardio-expert

(1) Anacin (2) Paracetamol
(3) Cetapin (4) Aspirin

(1) 1

(2) 2

(3) 3

4) 4

TEAE  UTEE Ted -9 § Wy ¥ ud Fetengd 5 @ e gan #1 aekte g e g 2 7
(1)  wATEa (2) URTEZEE
(3) = @) ufEm

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=18893]
2[Option ID=18894]
3[Option ID=18895]
4[Option ID=18896]

Sl. No.100
QBID:1064075

Which Coastal Regulation Zone (CRZ) deals with Andaman & Nicobar, Lakshadweep and
other islands?

(1) CRZ 1 (2) CRZ4

(3 ' EBmZ (4) CRZ3

(1) 1

(2) 2

(3) 3

(4) 4

FefEs # @ =9 @ 95m A am (9w 9g) =AW 9 Feew, 9age a9 geeaga o
geifed 7

(1) Hsmssl (2) Hf AW TS 4
(3) i ¥m s 2 (4) =t w W =S 3
(1) 1

(2) 2

3) 3




(4) 4

1[Option ID=18897]
2[Option ID=18898]
3[Option ID=18899]
4[Option ID=18900]




